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JERRH R =X 147, 855, 095
HEELT = 27, 754, 798
BEARRE AT = 1,052,312 |B&MA (BEE) RE+ 100 m3
2. bmAT ;
BRI (Bite) R+ 60 m3
2. 5mPh 4. OmASTw ;
b 180 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 180 m3
+1 850, 000m3AT ;
RIEEALER 100 m3
L TE AL 100 m3
AAIK WINE 30kg/m3 ;
AR AT (ICT) = 12,702,333 | #&{A (BE82) BE 4= (ICT) 10, 200 m3
A 11, 310 m3
0 CaBl- EHIRY £5Te) ;
FHIA O-27) 11, 300 m3
+1 850, 000m3AT ;
RIEEALER 100 m3
L TE AL 100 m3
AAIK WINE 30kg/m3 ;
AR AT (ICT) = 5,522,161 | &KL (ICT) 3, 900 m3
b 4, 370 m3
0 CaBl- EHIRY £5Te) ;
FHIA Ob-27) 4, 400 m3
+1 850, 000m3AT ;
RIEEALER 100 m3
L TE AL 100 m3
AAIK W& 30kg/m3 ;
EEEEIE T (ICT) = 1,748,460 |{EMEEETE (@& L) (ICT) 3,220 m2
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B ELa )=} =X 1 6,729,532 |9E D avs)-} 1,827 m2
18-8-25 (20) (i47) t=10cm ;
1 L 2 1 1,917, 690
fliAE T = 1 1, 136,490 | Fi--HAh 2,410 m2
REBHEE L 1000m20L L ;
A B4 IR A 80 m2
Sem AEAEFEASIRAT T 100m2ATH ;
EEWRAT T = 1 781, 200 | EMIMIR AT 70 m2
4B JE8cem
PRE T = 1 49, 480, 219
e+ T 2 1 28,768 |HE L 1 =X
+4)
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
T wb AT 1 2V
0 CaBl- EHIRY £5Te) ;
e 1 =
B2 A couE
VAT (ICT) 2 1 5,188 |FRAE Y (ICT) 1 =X
T FTHERE T (&4 BT =X 1 4,786,005 | E /1 HiEkE 46 m3
2%
Im% 8 X 2mAii 18-8-40 (B IF) ;
) AR 25 m3
3%
2mPh_E5mEA T 18-8-40 (F¥F) ;
7" VA MAERE T = 1 2,456, 488 | 7" VEyAMHERE 14 m
[ERe 2 0
Gr-L4 (B - Cf&) H=800 B=1000 ;
7" VR A NgREE 14 m
finR -BE 5B
Gr-L/% (B - CFE) H=800 B=1250 ;

-2 - E ta2@d Ui




it
W
S
=
I

THEL | ARKBIY A THEMERMEFHIXS R 8 ] T4

TEHEX Sy - THE - R B {7 ¥ & & # A bl iR

7" VR A NgREE 27 m
finR BE 5B
Gr-L (B - CfE) H=500 B=1300 ;

7" VR A NgREE 2 m
2%
0.5mPL 1. OmPATF

7" VR A NgREE 5 m
2%
1. Om%& 48 2.2. OmLLF

7" VR A NgREE 4 m
2%
2. 0m% #8 2.3, bmLL T ;

HeERA TR L BE - 7 AR RE T 2 42,203, 770 | {38 B LA 37 m

472
18-8-40 (B JF) ;

fii B R 3 m
47" 3
18-8-40 (B JF) ;

IR T RERE AN - 3R & 422 m2
HERA TR o RE

58 - BEBE AL 422 m2

T BEAA B 7,066 m
HERA TR o RE

FEHL-HBH L, FED 4,700 m3
HERA TR o RE

W 1 % A 100 m3

b E 5, 190 m3
0 Cadl- EHIRY £5Te) ;

FEIA (Ob=27) 5, 200 m3
+Hw 550, 000m3 AT ;

REmHEAK)E 209 m3
BAIT9v%=77 RC-40 ;

HAHKE 12 m3

HE)T9vv=7v RC-40 ;
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W H U BG4S 33 m2
FMEMELAR R O VK v REEAR) B2, 0~2. 1mm
390N/5¢m ;

BETH b i AL B 136 m
5
ME0. 3m 24-12-25(20) (B ) ;

BETH b i AL B 69 m
8%
ME0. 3m 24-12-25(20) (B ) ;

HEKE #EE 4 m
ERER VfiE v v (2R L) ¢ 200 ;

HEKHEEY T = 1 18, 925, 988
e+ T 2 1 236,713 |FRIEY 1 X

+4)

HEL 1 2V

FEHA O-27) 1 =X
+Hw 550, 000m3 AT ;

oAb E 1 X
0 Cadl- EHIRY £5Te) ;

oAb E 1 =X
0 Cadl- EHIRY £5Te) ;

e 1 =
B2 A couE |

AR T = 1 17,247,328 |7 VivA BRI 355 m

PU1-300 X 300 ;

7" Vv A NUBRMAITE: 829 m
PU3-300 X 300 ;

NS 1,491 e
300 41.2%9.5X50 ;

NS 83 e
) Vv-F,)7 & PU3-300A T-25 WH 2»& kiF JI
S J/A)y7" L=1m ;

-4 - E ta2@d Ui




il
W
St
%
I

T=E4

ARBI 2 A THER M e F X R 8 ) T4

LKy - LA - FER

&

ﬂlj“

Pirany]
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=

68,617

MWK
9%

Ak

V-V L =

1,137, 410

BUGFT B AR T

287

HIBFTH 18-8-40 (B 1F)

BUGFT B AR T

327

HIBFTH 18-8-25 (B tF)

LG BT
33,43, 44%

B HTAS 18-8-25 (F4F)

BUGFT B AR T

387

HIBFTH 18-8-25 (FtF)

BUGFT B AR T

3975

HIBFTH 18-8-25 (FtF)

BUGFT B AR T

4075

B HTAS 18-8-25 (F4F)

BUGFT B AR T

4175

HIBFTH 18-8-25 (FtF)

e

=

7TVv=F/) i 1300 X 130080 T-25 W H J/A)y7
TR VMEE ;

e

=

7 V=Fs)" Pk 500X 500 T-25 MEE JVAly7

K MEEZ ;

e

=

77 V=F0) Bk 600X 600 T-25 MEE JVAly7

K MEEZ ;
e
W=300447" ;

A E 3 IEHE

A E 3 IEHE

A E 3 IEHE

A E 3 IEHE

A E 3 IEHE

A E 3 IEHE

A E 3 IEHE
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HEAKT = 235,920 | fiEHEK 12 m
PU1-300 X 300 18-8-25(20) (&%F) ;
EEEET = 12,097, 649
TA7 7 M2 T = 12,097,649 | FIE&m (il - BEE) 3, 480 m2
BTy r77 RC-40 A VW E 120mm ;
TR s (BE - BRI 157 m2
BTy r77 RC-40 A VW E 100mm ;
TR s (BE - BRI 313 m2
s %
BTy r77 RC-40 A VW E 100mm ;
R (HEE - BRI ) 3, 470 m2
AR A RM-40 A+ Y E 120mm ;
g (I - BIF ) 3, 680 m2
FABRIEET A2/ (20) AHMEE 50mm 3. Omid ;
g (I - BIF ) 313 m2
s %
AR A2 (20) AH%E/E 50mm 1. 4mPd |3
.OmELF
Bh AT L 2 14, 616, 040
BRARI S A T = 14,150,280 |4 =} N (7 876 m
GP-C-3E 7 v—~"=y" 2 ghfREiAl E4E ;
AR A VA 35 m
GP-C-2B 7 V—~"=y" 2 ghfRERAHIE 4 ;
B 1A T X 465, 760 | AT (REWT) B 1A 41 n
M L Im BFESA 7"
X JEj R L 2 412, 672
X IR T 2 412,672 | FR =X AR 1, 040 m
Rl CFE) R 15em JE1. 5mm HEAKMESHEE M
a2 X R 260 m

VAR W 150m JZ 1. Smm Pk PEEAE 4
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H AT B MR T = 2,490, 300
MEEE T = 2,490, 300 |FEHFTER: 1 EEn

2%
18-8-40 (B HF) FA)79v4-77 RC-40 ;

BLLGFT s B 1 &30
3%
18-8-40 (B HF) FA)79v4-77 RC-40 ;

BLLGFT s B 1 &0
4%
18-8-40 (FHF) FAI79v4-77 RC-40 ;

a7 R A T 2 15, 034, 199
7R R T = 11, 808, 458 | @A (ICT) 20 m3

Tty A7 by b BEFESEL 5, 000m3AT ;

EuNE R 10 m3
2. 5mAT ;

PR (FEER) B 1= (TICT) 4, 200 m3

RIEEALER 100 m3

L TE AL 100 m3
AAIK WINE 30kg/m3 ;

BRI (B 1356) (ICT) 50 m2
LRGSO L ;

b 4, 830 m3
0 Cadl- EHIRY £5Te) ;

FHIA Ob-27) 4, 800 m3
+1 850, 000m3AT ;

M 1 =X
HBtHZ A couE

T HEKE 67 m
R )L v s (B L) ¢ 150 ;

UEIE 5 m2
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18-8-25(20) (F47) t=bcm ;

+m 3 168 S
it A 00 5 AU 110X 110 JEEA (R T
Jis (L4F) A4

/) ) -MEEEBUE L 50 m3
HEATAEIEY) FEAE 1. ;

/) ) -MEEEBUE L 145 m3
SR EY) A T ;

gt 50 m3
/)Y - hik (AT

e 145 m3
/) -hik Bk

By 50 m3
/)Y - hik (AT

By 145 m3
290 -hik BRh)

HEARE T = 1 3,225,741 | 4HHI (ICT) 20 m3

Tty A7 by b BEFESEL 5, 000m3AT ;

PR (Bite) R+ 310 m3
2. 5mAT ;

PR (Bite) R+ 270 m3
2. 5mPh 4. OmATw ;

BRA (BEte) R+ (ICT) 250 m3

BRI (B 1356) (ICT) 590 m2
IEmEAERE O L

TEHEFETE (8] 1356) (ICT) 8 m2
VY = WD R OWHE = CREPE L

b 930 m3
0 Cabl- EHIRY £5Te) ;

FHIA Ob-27) 910 m3
+1 850, 000m3AT ;

M 1 =X
HBtHZ A couE

ezl 370 m2
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BTy r=77 RC-40 #JE 100mm ;
s ALER T =Y 1 1, 039, 500
IEALBREE T = 1 1,039,500 |JSAfEZE 1 =
HEYE T Y 1 978, 040
HEETE LT X 1 636,440 | 3v7)-MHEXE YU L 50 m3
MEAHARETEY) FEAOE T
A IR A 200 m2
TAT 7V MEHEERR 15emPA T
TE LB T =Y 1 341,600 | BoE M 50 m3
/)Y - hik (AT
i SLikiing 10 m3
TAT 7V
RISy 50 m3
/)Y - hik (AT
RISy 10 m3
TAT7 VN HGE ;
T = 1 3, 108, 000
AEEHE T = 1 3,108, 000 | A3 Wik B Y 5 1 =
[ERAE Xy = 1 147, 855, 095
HiE 2 1 23, 315, 547
Hom it = 1 5, 604, 547
TERE 2 1 142, 000 | Ft RR R e 2 1 =
YT = 1 1,600,000 | AR 2 ! A
-9 - E+A8m SN T S
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L PN R i e = 1 913,556 | SR A5 Ik Rk 1 F2V

HeffrE sy = 1 1,601,991 |{R5F&EHL(ICT) 1 =

VAL E 2 (ICT) 1 F2V

R R 1 =
BGRESGESE (5 L) = 1 1, 347, 000
B (FEEHL) = 1 17,711, 000
T = 1 171, 170, 642
Bl gy 2 1 58, 135, 000
T =5l = 1 229, 305, 642
— R A 2 1 35, 174, 358
TS 2 1 264, 480, 000
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